u"L wc33lect

Announcements

® CBTF Quiz 7 next week
® 3D rigid body problems: PL HW10

| Upcoming deadlines:
® Friday (12/1)
e WA #4

® Saturday (12/2)
e ME HW25
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Chapter 5 Part || - 3-D Rigid Body
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Equilibrium of a rigid body

Now we add the z-axis to the 2.
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What are the possible 7%
movements for a 3-D body? % M, '
2 3o
F ) K, X la l?
: 2 X Y. %
EXY; J
. \1;_9, 4
A
Lez\uﬂﬂ'ﬁ A eguibloium
THe= 0 Mp= 0

EF\/':' 6"17’6
iﬂ',‘; aM,&b

Nov27Lec33 Page 3



Page 7/

Monday, November 27, 2017 10:10 AM

Types of Connection Reaction Number of Unknowns

(1 /( /I-'
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cable

@)
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smooth surface support

‘L j

roller
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Types of Connection Reaction Number of Unknowns

(4)

ball and socket
(5)

5 i | "'}‘

single journal bearing
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Types of Connection Reaction Number of Unknowns
(6)
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with square shaft
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single thrust bearing
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single smooth pin
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Types of Connection Reaction Number of Unknowns

M.
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single hinge
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fixed support
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Z Determine the components of reaction at the fixed
support A. The 400 N, 500 N, and 600 N forces are

parallel to the x, y, and z axes, respectively.
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The 50-1b mulching has a center of gravity at
G. Determine the vertical reactions at the

smooth contact point A.
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